P1.43  For the flow between two parallel plates of Fi

walls. Use the simple slip condition, . = ¢ (du/dy)

g. 1.8, reanalyze for the case of slip flow at both
Sketch the expected velocity profile and (b)

wall, Where £ is the mean free path of the fluid. (a)
find an expression for the shear stress at each wall.

* Solution: As in Fig. 1.8, the shear stress remains cons
s correct up to the relation a+by.

tant between the two plates. The analysis
walls, as shown in the following sketch

There would be equal slip velocities, du, at both

u
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Fig. 1.16 Schematics of velocity

profiles over a solid surface with N
no-slip and slip conditions,
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